1.

a+b+c B HeAl 7155 Aol tehiug

b b
@ abc e ® < D)~ ® L

4 ab bc ac
a+b+c=ax1x1:io]q'

b ¢ bc




N a=6,b=3<Y 0,

® 36 @ 40 81

@ 18

=)
I
op)
X
©
X
K]
Il
|9%)




— 6 otk




@ 4a, -5a @ —x2, 6x2

® -5, 3

@ 4x2, 3x

@ 3ab?, Tab?

iy

|

iy
T N
ol M_n
NI
o 2
=

N
R
o 5
X ..
> 5
,_nro 2»
i o
Wo @




2a—|—1_a—1+a+3
3 2 4

(%/g'):4(2a+1)—6(a—1)+3(a+3)
2
_8a+4—6a+&+3a+9
- 12
 Ba+19
5,19
1297 12
5 _ 19
o 2~ © ARSSEE: O
0—47:""!‘ 12’ 5T 12
5 19
AN
12+12




of @ Tkt Alef 2x-+4 2 Whojof & 21 ZE Axtste] YU 5x-1
o] Hgict. ojuf up= A A4LE Ak

@x—g @ 3x-5 ® 5x+3
@ 7x+3 ® 9x+7

B

ojH 2 : A

A+ (2x+4)=5x-1
A=5x-1-(2x+4)=3x-5
L (Bx-5)-(2x+4)=x-9

S5x—1-2(2x+4)




7. axbEa+b-abti FT 0, T+ A
(cx3) + {24 1)+ (3+))

filo

Zbts) spodet,

=
| — ]

>
[> pal= 2%

oHd =

~&B

x¥*3=x+3-3x=-2x+3
(2+1) 5 (3+2)

=3+ (-2x+3)-3x(-2x+3)=4x-3
(FA]) = (-2x+3) + (4x - 3) = 2x




D o 4 A5t Al 7158 ALgstel e o] ohd

3x -2y

A7

@ axb+(3xx-2xYy) @a+b+(3><x—2><y)
1 1

-+ -2 bX —

® a 5 (3xx—2xy) @ ax X(3Xx—2xy)
1 1

® a+-x

b (3xx—-2xy)

B ~
@a=+b+(3xx-2xy)
1 1
T Bxx—-2xy)
a
b(3x — 2y)




gt HA7A A AR oAl 1 7Rl x ol BYTh 252 AR
o 15% &elsto] HAATY ofA| 9] 2 ijekF AR HET. o A<k
L5 o5 T W AR 1 /Y] Bt HAE x B AMER A o' UE
teizt.

» e

> He 09x ¥

B

oA T Alte] 5 a () 2 FH, &5 T AR A4
= 2a (7h) °]tt.
(1A AHE T FH)= ax (¥)

\ = 85 17
(QE A]'Jj]";—:_—- “11'_]_ 'ELQH[): 2a X mx = l—oax (%’l)
(VB BB A 1 A9 B A= LT g,
a a




10.

2l
E
= ka gty g qu e % 24 go A




_ 1
11 oA o - 2x -3 2% S ASE a, T4 3% -y 4% - 5 €

51 = 1
Hre o A -y A A5 Bt B at — O B2
b+ =
(&

Fatelet.
> o

> =g -8




The B QAAR) AL BE DY
B7]
@ x2 O 3x
© O0xx+2 ® 2x-7
@xZg—x—Z @ 5x24+2x+1
ofe @o. e
® ©,6e @ O, ©,6e

® 9,0.6,8,0@,e

@ x* : oA
© 3x : A4
©0xx+2=
@2x-7: 4z

x® _
@ —x-2: AR

@ 5x% +2x+1: Ox}4]




13. 2x-{1-3x-4(-x+2)} 7

C} -
[=

4
[> pal= 7

oH .

B

2x - {1-3x-4(-x+2)}
=2x—(1-3x+4x-38)
=2x—(x=17)

=x+7




2
[ ]=-12a+3+Z(a+3)

et a9 Al -— 1L AFF2 50182 —— +5=-—
Q=

o] g Fotolel
(=1
[=]
g: 19
3

=-12a+3+ za+2
3

——%ﬁ+5

- 3

34




15. t2 133} Zo] A%

=]
Pagh ~eA0] 8 2 AT 402 iy

43t FH o2 ~AEAS Bo] U7 o, xA o

CTHA)D

= =
AEAD QegAD BHAD
D 3x+2 @ 3x+3 ® 4dx+2
@ 4x+3 ®)dx+4
1A S] AE|AS =1 8=1%x4+4
2 AIC] AE]AL 41 12=2x4+4
3THAIS] ~E]F Ol £ 16 =3x4+4
whahA x‘:‘rﬁ] o H

3 AEA ]
xX4+4=(4x +4) o]t}

A
T

rr




@® 1150g @ 1250¢g 3)1350 ¢

@ 1450¢g ® 1550 ¢

~&B

tlo

571 3% o1l A3 30g &l AFEY 9

- 100 x 30
(2FEo] o) = —— = 1000(g) o|tt.

wrakA] E2] %2 1000 - 30 = 970( g)
FE7t5% o]1 A7 20g ¢l £AFES] FE F5HH

100 x 20
(AFE o) = — = 400(g) °oltt.

w2hA] E9] 92 400 — 20 = 380(g) ©Itt.
= F 25929 =9 &2 &5k 970 + 380 = 1350( g) ©Itt.

ot




17. x=-19 o, |x® +4] o } && ALY

@—Sx @ x*-x3 ® 2x2 +x
@ x3 ® 2x* +x

B

3 +4=|(-1)2+4l=|-1+4=3

@ -3x=-3x(-1)=3

@ P=(12(1P=1+1=2
@2 +x=2x(-1)+(-1)=2-1=1
@ 3= (-1)2=-1

@23 +x=2x(-1)3-1=-3




o5 A& 2rs] SHA ax + by 2 E W, a + b O] 327

(=1 (x4y) = (=1) " (x=y) + (-1) 1% (x=2y) = (- 1)1 (2x+y)

6 @4 @2 @0 ® 2

(=1)®(x+y) = (1)1 (x=y) + (-1)% (x=2y) - (-1)*%(2x+)
= (D) +y) = (F)(x=y) + (=1)(x = 2y) = (+1)(2x +y)
=—Xx—-y—x+ty—x+2y—-2x-y

=-5x+y

o2t g+ b=-5+1=-4




19.

(_1)2n+3 o
e B 1 slelel

(_1)2n+l_|_ ( ) =

(_1)2n_

xX+y

> E:
|

X

n o] Adgo|BE,
(_1)2n+3 — _1’ (_1)2n+1 — _1, (_1)2n+2 — 1’ (_1)211 =1

(_1)2n+3
o —\2nt2
(=1)2n+1 4 Lnx
(-1 -
| x+y
- 1
-1 + —
xX+y
- 1
1+ —5—
xX+y
B -1
o 14 x+y
-1

= :w"*l




20.

A7t

oIck ©

o] 5] w]

11-111

xg ¢l ol I 9]
]3’—}?——_1-% o

i

&l
14 RO A H]go]
2 g o] HeAl x & AR 4

=~

L (A

Z8 Ate] BA) =3a +a =4a= gx(g)

4
3:
o

1
1
=



